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QUESTION 1

?Do you still go to art exhibitions?

?0nly once on a blue moon, \'m afraid. No time anymore.
A. Only once on a blue moon

B. Only once on the blue moon

C. Only once in a blue moon

D. Only once at a blue moon

E. Only once at the blue moon

Correct Answer: C

QUESTION 2

"The soccer team ate the pizzas as if they were starving to death.” Read this sentence and identify the subject and
object, respectively.

A. soccer team; ate

B. soccer team; pizzas
C. ate; starving

D. ate; pizzas

Correct Answer: B

QUESTION 3

"Eyeing the large firm with trepidation, Erin decided against seeking a job interview."
Based on the context of this sentence, which meaning of the word firm is most plausible?
A. The act of making something tighter or more solid.

B. An emotional descriptor characterized by decisiveness.

C. A solid and unforgiving structure or substance.

D. A collection of men or women who make up a business or structure.

Correct Answer: A
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QUESTION 4

"The Louvre is the most well-known museum in Paris. It is the current home of the Mona Lisa."
What is the antecedent in these sentences?

A. home

B. Paris

C. Mona Lisa

D. The Louvre

Correct Answer: D

QUESTION 5

The oil is transported via a pipeline that runs north-south no Alaska to port of Valdez.

A. that runs north-south on Alaska lo port

B. that runs north-south in Alaska to port

C. that runs north-south to Alaska to port

D. that runs north-south into Alaska to port

E. that runs north-south across Alaska to port

Correct Answer: E

This sentence has an error by using an inappropriate preposition. It is the only possible notion that a pipeline can run

across land; there is no other possibility according to the context; so option "that runs north-south across Alaska to port"
is the correct answer. Whereas other options use inappropriate prepositions (on/in/to/into).

QUESTION 6

The father died without leaving a will, and since one of the sons was abroad at the time, the other took the cat\\'s share
of the property for himself.

A. the other took the cat\\'s share of the property for himself

B. the other took the rat\\'s share of the property for himself

C. the other took the tiger\\'s share of the property for himself

D. the other took the lion\\'s share of the property for himself

E. the other took the elephant\\'s share of the property for himself

Correct Answer: D

TEAS-SECTION-4 VCE Dumps | TEAS-SECTION-4 Study Guide | TEAS-SECTION-4 Braindumps 3/6


https://www.pass4itsure.com/teas-section-4.html
https://www.pass4itsure.com/teas-section-4.html
https://www.pass4itsure.com/teas-section-4.html

VCE & PDF https://www.pass4itsure.com/teas-section-4.htmil
a 2024 Latest passditsure TEAS-SECTION-4 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 7

The management should identify the factors that motivated employees to come for work and help them in achieving
their goals.

A. that motivated employees to come for
B. that motivating employees to come for
C. that motivate employees to come for

D. that to motivate employees to come for
E. that will motivate employees to come for

Correct Answer: C

QUESTION 8

Choose the medium with care, depended on the situation to strike the right chord.
A. depended on the situation to strike the right chord

B. depends on the situation to strike the right chord

C. to depend on the situation to strike the tight chord

D. depending on the situation to strike the right chord

E. dependently on the situation to strike the right chord

Correct Answer: D

QUESTION 9

Attending the interview one must have completed the basic degree course with an studies from a university.
A. attending the interview one must have completed the basic degree

B. to be attending the interview one must have completed the basic degree

C. to attend the interview one must have completed the basic degree

D. attended the interview one must have completed the basic degree

E. attend the interview one must have completed the basic degree

Correct Answer: C
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QUESTION 10

As office orders are related to important issues, they should be drafted carefully very in a precise language.
A. they should be drafted careful very in a precise language.

B. they should be drafted carefully very in a precise language.

C. they should be drafted very careful in a precise language.

D. they should be much drafted carefully in a precise language.

E. they should be drafted very carefully in a precise language.

Correct Answer: E

QUESTION 11

Before we can come to a decision, we shall need to hear all the pros and cant\\'s of the matter.
A. to hear all the pros and cant\\'s of the matter.

B. to hear all the pros to cons of the matter.

C. to hear all the pros and cons of the matter.

D. to hear all the pros of cons of the matter.

E. to hear all the pros the cons of the matter.

Correct Answer: C

QUESTION 12

Which of these words forms an irregular plural?
A. horse

B. crisis

C. monkey

D. baby

Correct Answer: B

QUESTION 13

Office orders are used to pass on important information such as withdrawing rights, imposing conditions, making
postings or transfers, and sanctioning promotion or increment and so on.
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A. information such as withdrawing rights, and imposing conditions, and making postings or transfers, sanctioning
promotion or increment and so on.

B. information such as withdrawing rights, imposing conditions, and making postings of transfers, sanctioning promotion
or increment and so on.

C. information such as withdrawing rights, and imposing conditions, making postings or transfers, sanctioning promotion
or increment and so on.

D. information such as withdrawing rights, imposing conditions, making postings or transfers, and sanctioning promotion
or increment and so on.

Correct Answer: D

QUESTION 14

Of these sentences, which is punctuated correctly?

A. Loretta attended school regularly; however, she failed to take notes, resulting in low test scores.
B. Tina, however frequently cooks in her kitchen; Carlos never eats.

C. Yesterday two students were attacked by a bear while walking to class.

D. Adam failed to eat fish: resulting in a fatty acid deficiency.

Correct Answer: A

QUESTION 15

The word ox is a singular word that has an irregular plural form.
Which of these words is the correct plural form of “ox\\'?

A. oxi

B. oxen

C. oxes

D. oxs

Correct Answer: B

TEAS-SECTION-4 VCE TEAS-SECTION-4 Study TEAS-SECTION-4
Dumps Guide Braindumps

TEAS-SECTION-4 VCE Dumps | TEAS-SECTION-4 Study Guide | TEAS-SECTION-4 Braindumps 6/6


https://www.pass4itsure.com/teas-section-4.html
https://www.pass4itsure.com/teas-section-4.html
https://www.pass4itsure.com/teas-section-4.html
https://www.pass4itsure.com/teas-section-4.html
https://www.pass4itsure.com/teas-section-4.html
https://www.pass4itsure.com/teas-section-4.html
http://www.tcpdf.org
https://www.pass4itsure.com/teas-section-4.html
https://www.pass4itsure.com/teas-section-4.html
https://www.pass4itsure.com/teas-section-4.html

